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אאאא(Net output)،
אאאW
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:PwאFאE(Water Power, kW)K 

: QאFLE(Flow, m3/min)K
:Hאא،(Total dynamic head, m)K 

:Kא א א   ، א    ٢٠
אא(kW, m3/min, m)K١٦٣}٠K
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:PpאFאE(Power input to the pump, kW) 

:PwאFאE(Water Power, kW) 

:Epא(Pump efficiency)
F٢}٦WE

  א     א   ٩}١א Lא 
٧٠Kא٩٠K٪

אW

KQHPw =
Pw = (0.163).(1.9).(70) = 21.68 kW                         
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Pp = 21.68 / 0.9 = 24.9 kW 


